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Question Number : 1 Question Id : 27028216484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which 1s known as Art and Science of Teaching?
B0 B 8¢, FTREH wohth

Options:

Pedagogy
| @ DEEA

Andragogical
Do|EtEES

Apedagogical
3. ® shoedss

Instruction
s

Question Number : 2 Question Id : 27028216485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This describes mtended results of nstruction rather than the process

of mstruction
=6 &Sdar (18 K08 e Hmren D606

Options :
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Sympathy to students
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Objectives of Teaching
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Teaching Aids
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Teaching Props
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Question Number : 3 Question Id : 27028216486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In this stage learners are self motivated and self directed
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\I
Tl

Options:
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Pre-primary
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Question Number : 4 Question Id : 27028216487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
If few students disrupt class the effective way to control this indiseipline 1s by:
Eosfood Dorgthen S5K8R PoriBR, S EHegmrrriend) aboldnddn SEa
Options :

Talk to parents
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Punish them physically
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Give them a Memo
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Change seats
4. 5@5}&3 @ﬁ%ﬂ?ﬁ SroD

Question Number : 5 Question Id : 27028216488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



An elective course chosen generally from an unrelated

discipline/subject in CBCS system
1s termed as:

CBCSs #586® sSomooda #vigo / diidho ok 28 20ds artsag

Options :

Core course
1. % 86 5%y

Project work
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Generic Elective
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Discipline specific Elective
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Question Number : 6 Question Id : 27028216489 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This refers to the degree to which research findings can be applied

to larger population
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Options :

Validity
| % s

Reliability
DEFHDADHS

Generalizability
3 ¢ FTeSeEbn

Credibility.
S

Question Number : 7 Question Id : 27028216490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which type of Research it 1s more about moving from “General Population to Particular”
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Options:
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Question Number : 8 Question Id : 27028216491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scale is used to assign events or objects into discrete categories
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Options :
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Question Number : 9 Question Id : 27028216492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which phase in Research 1s meant for cleansing data and

improving the quality of data ?
56556 % 55 Serodtn HIFHEDHLH, HHDEIHELS SHEPHHERD

Options:

Editing
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Tabulation
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Analysis
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Question Number : 10 Question Id : 27028216493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which is a software application which enables a Web to display and interact with text, images.
videos. music and other information types by accessing a web page ?
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Read the passage and answer the Questions from 11 to 15

Have you ever been at sea in a dense fog. when it seemed as if a tangible white darkness
shut you . and the great ship. tense and anxious. groped her way toward the shore
with plummet and sounding line. and you waited with beating heart for something to
happen? I was like that ship before my education began, only I was without compass
or sounding-line, and had no way of knowing how near the harbor was."Light! Give
me light!" was the wordless ery of my soul. and the light of love shone on me in that
very hour.
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Question Number : 11 Question Id : 27028216495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

The phrase ‘tangible ’ means
‘er0Ran®’ @0 VI V8 e@do

Options :
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1maginary
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Question Number : 12 Question Id : 27028216496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The author compares her childhood waith the
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Question Number : 13 Question Id : 27028216497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The phrase- ‘| was without compass,” means:
B AEFHD) BROT® GO ), ©@F G058 @0

Options :

educated
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directionless
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Question Number : 14 Question Id : 27028216498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word ‘harbor’ in the above passage is :
2 (DEGR0S s T SHF0N0: @ DTPAE DT 0NNE0

Options :

port
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Question Number : 15 Question Id : 27028216499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The first three lines of the above passage reflect .
) D830’ Jched e Hodden 1232 08T 0N
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pity
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sorrow
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Sub-Section Number : 4
Sub-Section Id : 2702821211
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028216500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Shaking the hands of a person in a country, where such an act is
disrespectful is a

______barrier.
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environmental
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Question Number : 17 Question Id : 27028216501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

errors can occur when a wrong word is typed

in an e-mail and theintended message is

misrepresented.
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Options :
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channel
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decoding
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Question Number : 18 Question Id : 27028216502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

messaging refers to the pitch, flow and tone of the
voice.
D0TH0 @RA D380 AINE) DB, (a0 OO
QTR ATPWRNOA.

Options :
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Question Number : 19 Question Id : 27028216503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

In the place of work, people respond to ideas that are
presented with

3BT B0, & 290000 eSO (Hasen
1206300 JOAT

Options :

anger
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emotion
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prejudice
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Question Number : 20 Question Id : 27028216504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

___listening can help you address conflict or problems within

the team
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Options :

mindful
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Question Number : 21 Question Id : 27028216505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0
3 2150 i 8

Options:

Question Number : 22 Question Id : 27028216506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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Question Number : 23 Question Id : 27028216507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A worker reaches his workplace 15 minutes late by walking at 4
km/ph from his house. The next day he increases his speed by 2
kmph and reaches m time. The distance from his house to his work

place 1s
2,8 5205068 ¢5c) 2063 D0 K0&%) 4 8.50 Jod IGD 15 Aaren
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Question Number : 24 Question Id : 27028216508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

If the incomes of A and B are i the ratio of 3: 4 and their
expenditures in the ratio of 4 : 5. The ratio of their savings, given
that B saves a third of his mcome are

A 0G50 B 330E) estr0sPen 3: 4 AR & 0G50 0 D JED 4: 5
DAIBS D )T 00, B 563 &sT0HOET sS85 03068 &7 T N0
0 ) Nod )

Options:

Question Number : 25 Question Id : 27028216509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

If mean and mode of a distribution are 6 and 8 respectively, then

the median 1s
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Options:
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Sub-Section Number : 6
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
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Question Label : Comprehension



The questions 26 to 29 are based on the following data.
26 00 29 1294) 00 1808 ST 0450 eSO GOEFON

Four persons of four professions are seated in a row, such that the
Professor 1s to the immediate left of Anup. Mobhit 1s adjacent to the
Doctor. The Busmessman 1s as many places to the left of Priyanka
as Manmohan 1s to the right of Priyanka. One of the persons is a
Lawyer.
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Sub questions

Question Number : 26 Question Id : 27028216511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who 1s the lawyer?
P L0 )adBD?

Options:

Anup
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Mohait
2. gg ﬁn%ﬁg

Manmohan
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Priyanka
oMol
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Question Number : 27 Question Id : 27028216512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who i1s seated between Priyvanka and Anup?
2205 0% OO @R DG Ded Bt yooe) o7

Options:

Manmohan
3SR

Mohit
5 % TS

canot be determined
QONOTIDEED

None of these
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Question Number : 28 Question Id : 27028216513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true?
Bob srggEned® 26 Jeghde ?

Options :

Mohit 1s not the businessman
g TS fardaed SN

Manmohan 1s the Professor
5 @ NS PTS (DO

Priyanka is a lawyer

% OP0E &0

Anup 1s a Doctor
e 350

Question Number : 29 Question Id : 27028216514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

From the statements below, all the following are true except
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Options :



Lawyer 1s not seated to the left of Doctor.
3508 DBeNB YN eroHD 8 3B.

1. %

Professor sits between Doctor and Lawyer.
2350 DO ePAND NGNS 1P N0 Srdy yoor) .

2. ¢
Manmohan 1s to the left of Lawyer and to the immediate right
of Mohit .
N 37D eFANTE DN IN OGN FrarSE OATYS
3 % €500 &.

Mohit and Doctor are seated adjacent to each other.
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

In a certamn code language. if the word ‘"MENTION’= 49 and
‘NEUROTIC’ = 64 , then

‘MARVELLOUS’ =?
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Question Label : Comprehension



Note: Answer the questions 31 to 35 based on the data provided below.
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The gross mvestment of Life Insurance Corporation of India in
different sectors 1s given i the following table.

DN B0 B 280 STI0NS &9 20805F T Are DEYd
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S.No. | Investment Sector Amount. (crores)
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1 | Socially oriented sector ( Plan) 458
s estrded 00 (DT DY)

2 |Socially oriented sector (Non plan) 107
ATSrEE esirheb SO0 (PP PIY)

3 Private sector 183
| 298 Gotio

5 | Central Govt. Securities 454
30185 152065 50 DEF:BESen

6 | State Govt. Sector 110
9 (w2hed 50 Soffo

7 | Securities Guaranteed by Govt 227
92065 £0 370 20N DEreOE3en
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Question Number : 31 Question Id : 27028216517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

The percentage of gross investment in state government securities nearly
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Question Number : 32 Question Id : 27028216518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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The investment in private sector 1s nearly  percent higher than
the investment in state government securities.
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Graphical User Interface
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General Usage of Internet
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What is the mternet?
@aéﬂ:&m oS S350 ?
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Programming language
(S¥|reoorDd grd

Network connecting computers all over the world

5505080 6l Sohy 5 Send 36555
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Computer program to transfer data
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Meet
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The program 1s intended for Tertiary Education through partnerships
with State Universities and Colleges to enhance the quality of ICT m

education 1s.....
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Digital Media Arts Program
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E-Governance 1s technology to provide................
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DI0H wobotHbhd a8 I08
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3 % OIS HFESBoHHS 2.8 08
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Which of the following was not a Millennium Development Goal?
& [Bob 08 26 OIHD ediHh oo sH?
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Improve maternal health
Sre)ey eBirpEn BrhHt

Ensure environmental sustainability
HoegHe KoFHED GOy HPHe:



Eradicate extreme poverty and hunger

3 % &0 258%0, D é@c}:ﬁjé}

Ensure healthy lives and promote well-being of all at all ages

w8y ZdEn Gothidly, ) Sabie wolb [Bard) [Bienrstiht
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Which of the following types of natural hazards have the highest

potential to

cause damage to humans?
& Q1D BEwe [HE)S Qﬁééﬁ@éﬁ 2B SN wod P33 Dk Rogra¥ Soth?
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Earthquakes
1 % ZirEoaren

Forest fires
eofia) @ﬁcl

Volcanic eruptions
@ﬁ&b’:ﬁﬁié ool [ﬁ')ﬁmﬁ}



Droughts and Floods
8B, K
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Carbon dioxide 1s primarily called a greenhouse gas because of ..................
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Traps heat
B8 HtnEolnod

Traps light

se0fd) ﬁﬁ}gﬁ"oéﬁo&
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Traps warm currents
S8 [Harstord HenEPotnod
3. % =
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Solar energy is .......cvveee.
Derth OS50 e
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Non Renewable source
SHXBe3aHBD 555

Conventional source
rolParahE S5

Non-Conventional source
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Exhaustible
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The primary agenda of the Kyoto protocol is ...........
850 (eSS |55 eBEone
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Regulation of hazardous wastes
35065 oo EHofEbohe
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Regulate the production of nuclear energy
e 68aD [BHodEBohe
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Control anthropogenic sources of greenhouse gases
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The oldest University in India
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The concept of Meta University was adopted by ...............
oty éjrﬁoﬁtjgjmgﬁcﬁﬁo rameD Sarabodnd
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Osmania University

1% &ﬁt@g_‘adﬁ}v D& Do

Delhi University
ah A Doegecho
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University of Hyderabad

rdTrarth DERmRgeaho
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Jawaharlal Nehru University

2350 ord JgTo DEPogeddo
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Which of the following 1s related to the New Education Policy 20207
& oipd A BE Dy derido 2020 8 Sowoodke
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Kasturirangan Commission
£5m8 SoKS EEn8S

Kothar:1 Commission
o Eaks

Indian Planning Commission

20B0S apdord BKS
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Value Education takes place only at ..........
Dend) D5y etrHas
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School
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Voluntary Youth Organizations
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Which is the nodal agency for United Nations Environment
Programme (UNEP) in India?
so8dirs” 3B Ji) Sogsten SeliEE Y §ué dady 26 ?

Options :



Ministry of Education

| % DTIg E’a}o{rj;éeté:\j g

Ministry of External Affairs

5 % areyy agBstore a‘hoﬁ_&éﬁ )

Ministry of Health and Family Welfare
@651’%&‘&1), oo Faoiéj 5’130@955 o5
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Ministry of Environment, Forest and Climate Change
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National Green Tribunal announced Rs. 1 lakh fine on violators for dumping e-waste around
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What was the first economic theory of international trade to be developed?
wodrdah HEo B S Dahadd Fnsd ©88 Rrpodo b ?
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The Hecksher and Ohlin theory

nEw R « .
1. w7 B0 FEvnlalevyy) 5#53:5 hm‘éﬁéﬂ

The theory of Mercantilism

srde ol Dorofo
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The theory of Comparative Advantage
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The theory of Absolute Advantage
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Which of the following can be a disadvantage to the host country of MNC investment?
MNC 2tpad ﬁﬁ_’g B8 Bob A6 06 elidradshr totuob?
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Drives out domestic competitors
adah oo S50 Hh#ob

Sends profits abroad

2 ® SoTren orgreild Dosafod

Threatens to leave if not "helped".
3 % "Sfcho” TahtHod H6DDLHD BABROS

Imports components
Dégrrreih BN Jhob
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Stagflation means:
@#a%méméﬁ Has (stagflation) eo&:
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Recession and stagnation

1 % Srotio #0din Hgs

Inflation galloping like a stag
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Inflation with recession
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Which two of the following arguments are most likely to be used to justify protectionism?
Ba8roef)) HiBodeef8 (Bob FHE o Dothartiden JEpST eddrhodatieran?

(a) To protect high cost domestic industries
mbE égﬂdﬁ]ﬂ@ﬁ} EDAS Bdad HaHeh B3oiltio

(b) To protect strategically important industries
irgerESore dnaydid 26|ivet BEodto

(c) To protect industries which are still immature
za)08 waba5tore 6 8(Ehei Bioito

(d) To maximize government tax revenue
[240&: Dy orabif) odto

(e) To protect environmental standards
Doyt [Hirarei H88EoSte
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(d) and (e)
1 % (d) sebcin (e)

(a) and (b)
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(c) and (d)
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A situation, where a country exports a product at a price below its cost of production

is referred to as:
2.8 d¥o &5 &) Hrabo 508 S 8% 68D WHHS I H6LEY se KrdT:
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Full cost pricing

i ""D?
1, % TEERES

New protectionism
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Dumping
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Udyam Abhilasha, a National Level Entrepreneurship Awareness Campaign is
launched by:
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The balance of payments of a country on current account is equal to:
58085 grend” o Glns) DDozpe K}éﬁ&ﬁ“@é@ &8 H3rdonr Sotnod
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Balance of trade plus short term loans

HBESHET e Sbdn SuEdE mnere oD
1. % & =

Balance of trade plus net invisible exports

> BEESDHE g0 Hbdn 55 E0DoSN wrbidbe By

Balance of payments minus capital flows
TDoDe SFero HET shid §F0
2 Lo 2B S

Balance of invisible trade plus imports
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Which of the following comprises international liquidity :
@09‘_50;@1:{13 Lgﬂ@-:&;a 8ob Eéﬁﬂ]&iﬁ TrenfodHE’ 38 £DA Gotnob:

(i) Gold held by Central Bank
Rolbd e B &) dorrdo
(ii) Dollar reserves of countries other than the USA

USA sshore 268 S ooeb exen

(iii)  Updated flawless software
$HEBotnls SHsirs #@35

(iv)  Stringent legal frame-work
E6530% SerR KomoBodd B 85
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(i) and (ii)

1 ¢ (i) se8aiw (ii)

(i), (ii) and (iii)
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Match the List-l and List-lIl and select the correct answer using the codes given below

the lists:

arller-| $08dkn erlle- || o 988D, erllore (2ol atwhs Fhei ddrRol HBK maraih

DoihE ol List -1 List =1l
e e erdlem- I
(a) World Bank . 1944
[0S agos
(b) International Financial Corporation Il. 1956
@oécgécﬁn Iiahs ?5‘25&’:_5
(c) International Development Agency lIl. 1960
F:::::U;écﬁ: @&Q@ ﬁoé
(d) Asian Development Bank V. 1966
estaciion @&@% a:rtgpﬁ
V. 1945
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1. %

(@)l (b}l (o)1 (d)-IV
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(a)-l1 (b}l (c)-Il (d)-IV
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What is the underlying concept that supports the immediate recognition of an
estimated loss?
wodee Ddbods Eﬁ&%ﬂ& $Es 10BoDRS Hifk "-:",.ﬁu‘w wofbs gl alhd?
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Prudence

HIZ0

Consistency

ntSEtco
o

Matching
3. ® SHBEREE

Accrual
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Which measurement basis is most commonly used by enterprises to prepare the

financial statements because it is the one that requires the fewest hypotheses?
e_‘ng}é DRbEesH SdrhIdhdos anénzjuﬁ E’aogjw 2 Fod (80855 drordsore add@rharo,

JothEod A8 S5 Ho5eden wddto?
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Present value

| % % Deod

Replacement cost

_ 36 Hecho
2. % R
Realizable value
3 % TE Sendd

Historical cost
TBIEE Hycho
4.9
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Which of the following is a reason why a firm would want to implement Activity Based
Costing (ABC)?
a8 Doy woytts ogrbs Haho (ABC) & eiben Daireds 5eels Bob o6& sbmo?
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Costs of implementation are too high

5'“005551:3 edoend” ﬁﬂr‘cﬁﬁw wiiSorr dotito
1. %

The precision of ABC may be too small to justify its implementation
2 % ABC Gng; pi)#dco oof) eibenid éﬁ}go:—ﬁm&'}ﬂ ERBosT GotTE RS0

The firm only produces a single product
}“SDE-;: aB Sy Lt dabiéo

3. %
It may help in making decisions more accurate
4 Hobod piEdd Mdiren Jdhiiod® & Jtko
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Under Current Cost Accounting (CCA) method in the Balance Sheet, fixed assets
should be shown at their:
5805 =5 ©Fofioh (CCA) 5886°, aBl) hi5e®

&
ag?

% enoi B8 Irhdeh sotnod.

Options:

net current replacement cost
| @ D58 S5 b Soto

higher value

eofE Dend

2. %



lower value
BN Dend
H o

current value
B8 Dend

4, %
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Triple bottom line accounting is also called:
(B3 wrtodn B o ofoh, &l Erd oot=t.

Options :

Management accounting
D8re oF ool

1. %
Full cost accounting

5> 50 doh e odoh
Historical accounting

3 % SPapbsd wEodioh
Incremental accounting
zolBhosrd eFodloh

4, %
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. Which one of the following is a structured review of the systems and procedures of
an organization in order to evaluate whether they are being conducted efficiently and

effectively?
éo@ gy &'}ééém 0Bdin Hgerren écﬁ}géﬁoéom snbdin (Bgradodorr Atarodnthdanar Glag

woder HobeDl Bod ;i Roeres Hang 06?
Options :

Financial audit
prldhe efd
1. %

Cost audit
a’):_:f:ﬁ} eale5

Management audit
3 DBiree oliel

Social audit
4 %  FErsE ebS
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Which method of Human Resource Accounting states that only scarce people should

comprise the value of human resources?
frsd S5oe o ofohd, O éeg&l E°88 SDAS dyZen frED frdesdthe Dadr $6h8oud

ElapislntyaY
Options :

Replacement Cost Method

| % OB %o 558

Historical Cost Method

, x TOEHS Soh 58

Opportunity Cost Method

saEd sndh Do&
3. ¢ i <

Economic Value Method
aBE Dend B8
4.% ° "
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Who suggested the ‘adjusted discounted future wages model’ of Human

Resource Accounting?
s Sihe eFofohds Homofodd Spaetn 2% Ehos a‘,ﬁﬁ”&;@ Fdre Hiumar

0 0% Sredomh?
Options :

James S Hekimian and Curtis H. Jones

Hay) S TeBInahS Hddn 585 H. &%)
1. %



M. Scott Myers and Vincent 5. Flowers
M. =¢85 Tochb) bain HFyoth 5. 5E6)

2. ®
Roger H. Hermansan
3 ¢ 55 H. Wgﬁﬁ;ﬁ

Baruch Lev and Aba Schwartz
ofirs O6 snbdin @ae %{é
4, %
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Match List — | with the List -l

List—1 List— 1l
(a) Indian Accounting Standard — 1 (i) Consolidated financial statements
508055 eFofoh okd -1 085)¥ =B DF85w
(b) Indian Accounting Standard — 29 (ii) Presentation of financial statements
s08aHs wFodoh sPokh - 29 @05 RE6%e Hm
(c) Indian Accounting Standard — 37 (iii) Financial reporting in
m08aDS ®Fofoh Foilb - 37 256 a52:06 o8

Hyperinflationary Economies
HEgoe® pTaHS BEFGoR

(d) Indian Accounting Standard-110 (iv) Provisions, contingent liabilities
308aH8 ook .igmdg - 110 Rootiden, silyE aetBen HBAM
and contingent assets

sobdim E'_'J?:‘:?Jéﬁ eSr e

Options:

1. %



(a)=(ii), (b)-(iii), (c)-(i), (d)-(iv)

5 (i), (b)-iii), (c)-{iv), (d)-(i)

3 % (a){iii), (b)-(ii), (c)-(i), (d)-(iv)

(a)—(i), (b)-(iii), {c)-(iv), (d)-(ii)
4. %
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The sources of the Indian GAAP (IGAAP) include:

58aH GAAP (IGAAP) Gng) Sireren:

(a) Indian Companies Act 2013
&ah Somlle Sio, 2013
(b) Motifications issued by Ministry of Finance
@gf‘é sno|@#&:, T b DHD ﬁﬁiﬁﬁ@ﬂ
(c) Accounting Standards

=Zofioh [H&rmrom
(d) ICAl's pronouncements
ICAl's &%) [HE&den

Options:

(a) and (c) only

1 % (a) soBafo (c) Srigah



(c) and (d) only
(c) soBdin (d) Somieeh

(a), (c) and (d) only
3 « (a), (c) 5obain (d) &miEah

(a), (b) and (d) only

4% (a), (b) b (d) SrEa
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If the price of a good is above the equilibrium price, then

a8 Srpd &8, Sy 66 Eo& BT &0, S0
Options :

There is a surplus in the market and the price will fall
1 & Br0ESE® Sorben tol HBA &8 HEFHH

There is a shortage in the market and the price will fall
2 % aﬁwﬁ;&f@a 54 sofl bdio 8 S85kdad

There is a surplus in the market and the price will rise
3 % SFBYSE Dorben sob MBakn &Y LB

There is a shortage in the market and the price will rise

4 % SrOp5E” £°58 sol b $8 BBrbehod
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Which of the following factors keeps the price elasticity of demand for a
product low?
Bobd woTed” 26 55D 8ok o) $ m&t—.‘s'-.-f: i SEpde sobéod?

Options :

Variety of uses for a product
a5 Brpi) dws) 04§ Sere Garren

1. %
Low price of a product

> a8 B chof) S5 &8
Close substitutes for a product
a3 Brnay G é{:liﬁ [gjaﬂ;jéclﬂ:‘;_cﬁa‘-en

3. %
A high proportion of income spent on a product
2.8 B0 oy Faonds aordbodt ebirNo

4. ®

Question Number : 73 Question Id : 27028216559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match List-1 with the List-1l by choosing correct options:

List— 1 List — 1
. Monopoly 1.Two firms
aagio Both Hojen

Il. Oligopoly 2.Price takers
5’35-?.?0%5}“;:&6:50 B85 sroterth

I, Monopolistic competition 3.Few firms
nfsa::ﬂ:;éa_; £Ed ma:g:meﬁ@_:usi e 55 e

Iv. Perfect competition 4 Weak barriers
Doy £Fd E-BE:'UE‘SJE_.-_Jé 56 GreD

5. One firm and one product
2% B0y HHBdn o8 SHH

Options :
I 1! 1] I\
1. % 3 1 2 5
I Il 1] AY
2 % 2 5 3 4
I Il I IV
3¢ 5 3 4 2
I || I I
4% 4 3 5 1
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On which of the following assumptions, the theory of consumer behaviour on

cardinal utility approach is NOT based?
Bt mirpés [Hhdired” O (Hhdhon =056 Hared derion SAGFATEHY P85S hrpodo

BFEtat Golth?

Options :

Diminishing marginal utility of money

| B saros (Haresd S

Consumer is rational
AT e e ey ) ﬁ:ﬂé}mtﬂgnﬁ}

Limited monetary income of the consumer
DGR HBEHE (B eordbo

Maximisation of total satisfaction

g S0Eo Sofjh g AB5 S
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Utility derived from consumption of an additional unit of a good is called:
af HhE) dng) et ards D0arHo ok =fod BHarerl) asbotrth?

Options :

Total utility
1. % sdnégo [BHdresibo

2.



Marginal utility
Garo# [Hdrado

Additional utility

3 % e85 |BHdredo

Derived utility
4. % B dhabd (BHaredo
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Which of the following explains the declining slope of indifference curves?

Bob 8" 0B swhidd BESpe Shde Do D56506?

(a) Diminishing marginal utility
2% aarod [Harado

(b) Diminishing marginal rate of substitutions between the commodities
Sobe iy S8E) (BegEmaire sirol Bim

(c) Diminishing marginal rate of technical substitution
FoSEE (Hemimabe S8 edrost

(d) Ordinal measurement of utilities
[@rsare deprties Sledimido

{e) Diminishing marginal utility of money
Bsgo @n%) S8:%) erod (Haraso

Choose the most appropriate answer from the options given below:
BB sirpés dobie Dob N8 smrmid doihsold:

Options :

(a) and (e) only
1% (a) dbdin (o)



(a) and (d) only
o % (a) sbd (d) &rEaD

(b) and (d) only

o (D)o (d) SmiED

(c) and (d) only

4 % (0)80% (d) e
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What is the reason behind convex portion of the long run cost curve ?
B¥zre Hiah HECe Gy Wibdaren (upward sloping) g8 o ==tmo HEE?

Options:

Economies of Scale

% 68 H85rerdE Honofolld emren

1

Diseconomies of Scale

68 D8ErelE Domofods Eég wedhsren

2. ¢

Diminishing marginal return

3 % E6%®) earodornd

Diminishing marginal rate of substitution
4 % EBEE [Seegpimdire earoftim
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Which two of the following assumptions apply to ‘kinked-demand’ analysis in
oligopoly markets?
Oligopoly 856" ‘kinked-&irof’ D3e% Homobod BLS HF =H6° & Both
[Hhdiren HBpon?
(a) Rivals will raise prices in response to the firm’s higher prices
éo?é Ging) @hE §ies a5 otsm @éﬁﬁgm ten Jotherd
(b) Rivals will tend not to raise prices in response to the firm's higher prices
@%@m K}DKﬂ} GnE) @fE e [HEhodhr foik hodehE a@ﬁcﬁeﬁ:
(c) Rivals will reduce prices in response to the firm’s lower prices
ﬁog Ging) S5ps §oe [Hehoshme l;ﬁéﬁ:}t%}m Bein éﬁﬁ_ﬂ;ﬁj
(d) Rivals will tend not to reduce prices in response to the firm’s lower prices

L{Jéﬁgm ﬁo§ GnE) E58 HooB HS80sSr $hei Shosh

Options :

(a) and (b)
1% (a) su8ckn (b)

(b) and (c)
(b) &08a% (c)
2. ¥

(a) and (c)
(a) sobaiw (c)



(c) and (d)
(c) Sobcsw (d)
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Which three of the following characteristics apply to oligopoly?
Bol =5nds 86" o Srth ofmren ‘oligopoly’ % $87kon?

(a) A few large firms account for a high percentage of industry output
as 2

SBED cEBE° ©hE Fod) TR DY Sofen DA sotrow

(b) Many small firms account for a high percentage of industry output
2.5 285 ﬁéﬂjé__&tﬁs ol LRt Oy Eﬂo:’gw EOR dotrom

(c) The industry is often characterized by extensive non-price competition
2.8 OB S5 DPEDD BB B0 5490 5OA sotnob

(d) Each firm faces a downward sloping demand curve

(8 o3 (Bodd arenre ( downward sloping ) &) &irok HESHD D" 0tn08

Options:

(@), (b)and (0
. (@), (b)&beso (o

(b), (c) and (d)

5> w (b), (c) b (d)

(a), (b)and (d)
3 % (a), (b) bt (d)

4.+



{a), (c)and (d)
(a), (c) &baho (d)
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A market structure in which a single firm supplies a single commaodity to the entire

market is known as:
2B KJOKG) Ando oS a8 S S8Hoe TR )l Nl Bee @otrd:

Options :

Perfect competition
1 % PoTE O

Monopolistic

DERgiy &4
2. %

Maonopoly
3 @ QSRR

Oligopoly
4 % BB Do
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Which of the following is a short-term source of financing?
Bob & 08 Frenseds pardjoh SHtre 'ﬁJE";ﬁE&ﬁgj?

Options :

Issue of corporate bonds
=50t @rol b

Factoring of account receivables
grerrthe SrE) ﬁﬂ&‘:{ﬁﬂﬁ

Issue of common stock
areEtics arSEr b

Both (A) and (B)
() obaiw (D) Botirso
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The overall capitalization rate and the cost of debt remain constant for all

degrees of financial leverage is advocated by:

2.8 Hoy awE) dndo srhOSENR Den bdn He bt el ci‘;mw ots DFH0E AR

Sore dotnoll [H&arbolld Do

Options :



Miller-Modigliani Approach

b - IrEAER BEES
1.¢

Net Income Approach
258 aaedh Doedo

2. %
MNet Operating Income Approach
3 % 25Y =08oh amrdd Doedo
Traditional Approach
4 % arolferd® (Traditional) 2eiio
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The common stock of a company must provide a higher expected return than the

debt of the same company hecause:
Kol &5 ol ired £ 058 o3 oDl 83 Heod

B

rofs Déns mobolded dotnod, dothiod:
Options :

Less demand for stock than for bonds

. zrol Bo8 rerdom 9{;3& (zméren) H S5p5 Aol
1.

Greater demand for stock than for bonds
arol B08 Argrds @;mﬁm QEpS &xrok

DDoD H& Tensd IS
~— o o o



More systematic risk involved for the common stock
3 et aréren o538 (Exhed 8F) sotnob

Market premium required for bonds
wrodD 505 (S8vdho wEtto Gotnod
4, ®
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When there is single period capital rationing, the most sensible way of
making investment decisions is:
2B 5o éﬁéﬂ&:ﬁ Foreis BafoR Gy, 33&%]350&1 Fc-gcﬁ.ﬁen e @égpé 2038
o

Options:

Choose all projects with a positive NPV

1 % Fiosre NPV o of gra5ed adoths so

Group projects together to allocate the funds available and select the
group of projects with the highest NPV
[ErBheid (frdeonr 3%, w&BE NPV o @rEde (s wotharind” &)
2.« Do BéronodSio

Choose the project with the highest NPPV

3 % w&6E NPV So grahid adoths o



Calculate IRR and select the projects with the highest IRRs
IRR & 88,00, «&5HZ IRR en & @vﬁ%eﬁ} soiHEato
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Which of the following analyzes the accounts receivable, inventory and
accounts payable cycles in terms of number of days?
Bob &8 06 - oo éﬁf%, aﬁr;:::é.}ﬁ sobdin grere SDod)e digreid Bore

Somg Sga6" HFheb ?
Options:

Operation cycle

a505s SiEo

Current asset cycle
(33750 entioe H(Eo

2. %

Operating cycle

s=5080R JZo
3.¢

Business cycle

et S(Eo
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If the US dollar appreciates relative to the British pound
(D87 TroEE® 5507 US mreb Dand LBAREG00E:

Options :

It is called a weakening of the dollar

1 % b DeirdHEold wotrth

It will take fewer dollars to purchase a pound
2.8 Trobih FEelE 53 ot edibigob

It will take more dollars to purchase a pound

2.8 Trobih Fiell 05 crol) efktigeron

Both (A) & (C)
Dot (o)) 2bdin ()
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A forward contract to deliver British pounds for US dollars could be described either

ds ar
US mretth DER ok 3DSH0hS PGS ol Ging HBoBH
Options :

Buying dollars forward; buying pounds forward
mrebid SwothD FFido ; o Swothh FHKo
1. %

Selling pounds forward; selling dollars forward

Frotiio swoth @éjéd:::; rodih snoths &::ﬁ}éﬁ‘jo
2. ®

Selling pounds forward; buying dollars forward
Froiid Smothth eiiytio; ol dwoths Edoften Ddabio

Selling dollars forward; buying pounds forward
el dnothD eiptio; TPofii Hnothid Edofen Dohio
4. %
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What defines a euro bond?
et arothid D6 DED%6?

Options :

1. %



A bond issued by the European union or a member country of the

European union
PG SahS drddds Bor drt adbs dirddhSETD ﬁﬁéﬁé@ b Dhd eroth

A bond issued outside of the country in the currency of which it is

denominated
R4 Do Jende =B Dabolds, sddo ﬁazg ’:—.‘E!lfd“jéo Dendrre ob Dahads arotd

A bond issued in Europe
D ard” w0 Ddbold roh

A bond denominated in Euros
4. % AorBied® Hrfodndd ot
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The international monetary system went through several distinct stages of
evolution. These stages are summarized, in alphabetic order, as follows:
EDéU::@ B Eé@ua’:\@ Ging) 0o oRs i, e o wbhod. ©Fld [Efoos” &
&¥en (Bob HEore Solfiaroatron:
l. Bimetallism
)
I, Bretton Woods System
BES HE) B
Il Classical Gold Standard
shE6 A'g arotif
V. Flexible Exchange Rate Regime
Pleyents] &é@oﬁ Tén Dgrdo
V. Interwar Period
©088y8 oo
=]

The chronological order that they occurred is:
el HofDodd srolisrarto:

Options :
1, 1, IV, Il, and V
1 s LIV, I o8t V
, 11, V, 11, and IV
1, 101, W, 11, &a8ade IV
IV, 1, 11, 11, and V
IV, 1, 111, 11, %850 V
3.
V, 11, 1, 111, and IV
V, 1L 1, 11, SBcko IV
4, %
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According to which of the following approaches, the cost of capital declines

when the degree of financial leverage increases?
Bo8 aimés drered’, D dod [Bsebo ol D508 i\;cm DBASES Soretsd dabo

Bi%0B ?

Options :

Net Operating Approach
DEE es5odoh Jpeio

MNet Income Approach

> f1E8 epedi Sgedio

Traditional Approach

rolfiorah Doedo

Modigliani — Miller Approach

oeb - FrEAced Dordo
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Which measure of central tendency is affected by the magnitude of scores?
@ Soisrdo et} HBEos (Herddhidod ?

Options :



Mean
1. & Witn

Mode

s EsD

Median

3 % éofﬁgﬁéo

Range

4. % D08
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If the standard deviation of the values 2, 4, 6, 8 is 2.33, then the standard

deviation of the values 4, 6, 8 and 10 is:
2,4,6,8 Dende @nZ) (Erdrds Ddodo 2.33 wond, 4,6,8 8¢ 10 Dende GoE)
[EesirdE Do

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options:

1.2.33



5 2.58

3. 4.66

5.00
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The percent of total variation of the dependent variable Y explained by the
set of independent variables X is measured by:
Hrdold Sedorde S8, X oo D580508 orred Jedocrde,Y dng) Indo Jod

(total variation)eerd 6 o Fenarth.
Options :

Coefficient of Skewness
Eﬁ“@éﬂé GinE) fomEo

Coefficient of Correlation

seFEw0@0l foeso

Coefficient of Determination

Sl fommSo
3.+ %

Multicollinearity
HHEONcTeS
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The mean of a distribution is 14 and the standard deviation is 5. What is the
value of the coefficient of variation?
2.5 Hobhd (distribution) GnE) Hftn 14 Hdd (Zrirds ddede 5. DludrheSo Dad dod?

Options:

60.4 per cent
1 ® G0.4 »Etiﬁg

48.2 per cent

48.3 Fvéo
2. ®

35.7 per cent
3.« B85.7 @0

27.8 per cent
27.8 avdo
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Assertion (A): Sampling error is a statistical error that occurs when an analyst
does not select a sample that represents the entire population of data.
Fohoh &h0 ©ab, ok aﬂﬁ&da dndo srgEi “rdos oD
oﬁloﬁzs“g:‘f}@t&a Ho2Dod Aerol Yo
Reason (R): Sampling error can be reduced to ‘zero’ by randomizing sample

selection and/or increasing the number of observations.
Fodd afEh dirtdEor Schtio Hbdn for FoddE™ D Sbdude
Sogrh Dodto o FoSoh ﬁaﬁnﬁ)g_ oo B SRossn

Options :

Both (A) and (R) are correct
1 % (A) 80 (R)Botd 90

Both (A) and (R) are wrong
(A) SoBa (R)Boks &

(A) is correct but (R) is wrong
3. ¢ (A) 5888 =R (R) 85

(A) is wrong but (R) is correct

4 % (A) 85 =0 (R)%pse
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The number of patients treated in a dental office on Mondays was recorded for 11

weeks. What are the mean, median, and mode for this set of data?
Forod Sod ebiRe” D% Frobd She Sogy 11 sroeenm $3H dabhobod. & Gird

Bomofodd Srtn, Hgkrido Hbdn eruto 2Ené?
5,17, 28, 28, 28, 15, 13, 18, 10, 16, 20



Options :

mean 18, median 18, mode 28
Hiiew 18, shepndo 18, ariroto 28

mean 18, median 17, mode 28

PRén 18, aﬂ:«:ﬁ_jﬁéo 17, spimtto 28
2.

mean 16.5, median 18, mode 28
whén 16.5, a‘mﬁ‘dﬁéo 18, eeodiEo 28
3. %

mean 28, median 17, mode 18
Rhén 28, shkido 17, arirotto 18
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According to the empirical rule, approximately what percent of the data

should lay within X+20?

wiherds Ddhio B0, Bird® Hirthr dof FEo X +2 0 %0 somd?

Options :

68 percent
68 ==o

90 percent
90 ==&o



05 percent

3 @ 95 F|eEo

09.7 percent
4 % 99.7 @0
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. Statement — 1: In statistical hypothesis testing, a Type | error is the failure to accept

a true null hypothesis, also known as a "false positive" finding or conclusion.

(B80S - 1: Remod $8%end D656°, BS - | 670 @38 Dudd driy 585D
mohEbodtos @E’m&o, &g Bath FenEre’ &ﬁéﬁm Hor Swhod e e
Denarth

Statement — 2: In statistical hypothesis testing, Type Il error is the failure to reject a
false null hypothesis, also known as a "false negative" finding or conclusion.
(56 - 2 : Awrol H65gR S656°, 85 - 116780 «db St HrR05e) i 855008E0s"

Se0, A "Eth PHasre” @ﬂ&ﬁm Tor Swhod =D 58 Seoar

—a

Options :

(1) is correct but (2) is wrong
1 % (1) $%6 =0 (2) &%)

Both (1) and (2) are wrong

5 % (1) 60w (2) Botir 8

(1) is wrong but (1) is correct

3 x (1) 89 =0(2) %6



Both (1) and (2) are correct
(1) soBc (2) Botor HBHD
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Match List-1 with the List-1l by choosing appropriate formula:
erfler- | O erller- || & 9055, SRS Srped)) JohE i
List-| List-Il
eflem— | erdlem— I

a) Probable error (i) J bxy. byx

éoa.waﬁé &40

b) Standard error (ii) 1-r3/VN
FrErds &40
c) Correlation (iiif) 2/3(1-r3/VN)
HErBomotio
Options:
1@ (a) (iii) (b) (i) (c) (i)
5> % (@) () (b) (ii) (c) (iii)
—(a) (i) (b} (iii) (c) (i)
3. %

(a) (ii) (b) (i) (c) (iii)
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In report writing, the list of special terms and phrases used is given in the form of:
QH6E BU56° add@rhod HaE Swro Hbdn ddwcwre =led o rded e

Options :

Foot note
1. % 585 55

Quotations
2 % ﬁﬂa:la“w

Glossary

Ffntcatite:
3.¥

Bibliography
4w (oESEE
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Match the List-1l with List-l and choose the correct option:
ol -l o dee - | & é&@-"’&};, PEGhH doEi N o8

List -1 List =1l
il — | wdler -l

a) Sales Executive (i) Top — middle management
g DE5ES erS - EoB& hoAdots

b) Branch Manager (ii) Middle management
lemoS Fhamb o8 - hddToots

c) Foreman (iii) Lower management

5E6ErS & Haddaots

d) Production Manager (iv) Operating force

[EPEES oaiesb [Ers a1} )

Options :

1.« (a)=(iv), (b) (i), (c) - (iii), (d) - (i)

2. % (&)= (i), (b) = (iii), {c) — (iv), (d) - (i)

3. % (a)={iii), (b) = (iv), (c) = (ii), (d) = (i)

4. % (@) =(i), (b) = (ii), (c) - (iii), (d) — (iv)
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Managerial Styles was analyzed by developing Managerial Grid by:

WREBAHS (RED @ﬂa’ﬁ,g DdbEo oo AoeeE Feoed DEhoSol:

Options :

1.¢



Blake and Mouton
g5 Sbdm oS

Jago and James

> % =R sobdio 5&5}3

Henry and Corroll

3 % e Hbdin 5656

Skinner and Argyris

. 2B sobdim ©B885
4, % i '
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Theory Z is proposed by:
Z - dopoerl)) |58arB0D56:

Options :

Henry Mintzberg
" & Enh

William Ouchi
5 D0 BO

Douglas McGregor
3 % OG5S 2EBKE



Robert Tannenbaum

Tob AFSEPen
5] [~
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The essence of the statements, "Work expands to fill the time available" and "An

official wants to multiply subordinates, not rivals" is made known through:
"wothartn i) HEnaiedy Egﬂ&@ﬁ&l—; 59 D3650b " Hban "af oh=b &5 l;;e:srgq:;m o,

PerBfoh DohS oo Foirth " o3 [HEake Forodo & o e D¥SHHE06:

Options :

Parkinson Law
arBin e srelgo
v )y wE

Demand Law

&m0l Yoo

Pollayyana Principle
Eradind delgo
3. % -

(D) Talcott Principle

eromel Srido
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Maotivational process and not the motivators, as such is associated with the:

(F05%en 50D, (Bon HiBdh, =ihds & hm;oéo@g msbemofodadnd:

Options :

Need hierarchy theory
1 % [E&rihnd ek borofo (Need hierarchy theory)

Twao-factor theory
Both-sdzer (Two-factor) ezodo

2. %
ERG theory
ERG %zrodo
3. %
Expectancy theory
085 (Expectancy) borodo
4. &
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The underlying principles of the combined code of conduct of corporate governance
and conduct are:
SEYBS AT SO (5555 Eng) D (BT DosrErsh @ng) woshs G
(a) Acceptability
st Grgs

(b) Openness
mirtions

(c} Integrity
Sl

(d) Accountability and Responsibility
sarmmrbdto obdin &niézgé

Choose the correct answers from the options given below:
8% afmas 8 Hod 58X smrmd JoHsol:

Options :

(a) only
1 % (a) &rigsah

(a) and (c) only

(a) soBcio (c) Sm(essh
2. %

(b) and (d) only

(b) B0 (d) fmEd
3. %

(d) only
4% (d) soegah
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A small group that forms to gain social advantage or special power is known as:
FErEs H@rado Bor L;’JE:;J!‘:.‘ ¥89) EroliceR 8T af O Bl mo sotr:

Options:

Task Group

1 % &rey) [

Apathetic Group
2 % SrhiE GHuriro

Clique
2drsro (Clique)
3.
Command Group
S5m0l 1S
4, ®
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When an employee is appraised by all the members in the organization like
superiors, subordinates, peers, customers etc., is called as:
a8 1555556{}. ﬁo:—’g:ﬁam tiEfsthe, }ﬁmgﬁﬁm. Hipitoen, t—iéé&ﬁm Eniafaid éﬁ)@&-oﬂﬂﬁﬁ

@od 'arcﬁnea&c‘é@d:, BEP Denart:
Options :

Employee Self-Assessment

1 % ﬁﬁﬁa‘;ﬁ ﬁ)édﬁ:a—@m‘.im



The 360-Degree Appraisal
360 - &|f modar

2. -
Ranking Appraisal
) oroloh SE8F modee
3. % i
Performance Appraisal
y H508% woda
4. %

Question Number : 109 Question Id : 27028216595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The technique that has been generally adopted by trade unions and management to

reconcile their conflicting interests is called:

=

B8 ahrdabih bdin ddDotn 85 Ed}ﬂg [S@rarmroih é-ﬁfqgﬁoﬁjﬁotﬂ}éj ©i0B0D
Vel s wotrh:

Options :

Arbitration
avnilet e {Arbitration)

Collective bargaining

5> & TFrsordrs @daroeen (Collective bargaining)

Adjudication

&%y (Adjudication)
3 %



Conciliation

“ o=# (Conciliation)
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The tendency whereby a group reaches a decision by trying to minimise conflict,

neglecting to critically test and evaluate ideas, is termed as;
mf S5 &é}@mé@éom éélgoﬁﬁdm S0Bdi ﬁﬁq@émﬁg_&@&@ﬁdo oo ﬁD;JJ*é.{EEé}

BRoeD [Sab&pdto oupe af 1rd & AYaril THED 66 aee wotrty
Options :

Group comprise

1 % Biorsr ol

G roup consensus
Sforde woedlardbo

Group think
S edtEd

Group cohesion

4 % S SS¥eeo
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The main objective of CRR and 5LR is to ensure-
CRR sbof8dfo SLR & (Hees e‘@%@ - 5H&n E)U;Eloﬁcﬁo:

(a) Liquidity position of bank
o DEAS 58
ol @
(b) Financial position of bank

oo =88 hé
a o o

(c) Profit position of a bank
argos i) (] %Eﬂ

Options:

Only (a) is correct

1@ (a) Srigsh 5858

Only (b) is correct

5 % (b) &ml85h $856

Only (c) is correct

(c) & $B56
.

Both (b) and (c) are correct
(b) $Bd (c) Both ¥BH
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Which of the following is not a regulatory institution in Indian financial system?
Bob & grbd @Qé Eﬁgéﬁﬂ;ﬁa Daholgoe nJ:IDE\é =068 067

Options :

1 % RBI

2 « CIBIL

3 % SEBI

4 % IRDA
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Match List —1 with the List-ll by choosing the correct options:
wle—| 5 el & 5&@5@:_2?5?. 208 aoBEeD aodEato e RErgrarl)) drdodod:

List —I List Il
ereflem—] eeiee-|
(a) State Bank of India (i) 1990
'.3;&5 a0t 9 mobdir
(b) SIDBI (ii) 1955
)
(c} NABARD (iii) 1981
ma:né
(d) EXIM Bank (iv) 1982

Ofs ePo
Options :

1.



(a)-{ii), (b)-(i}, (c)-(iii) and (d)-(iv)
«

(a)-{i), (b)-(ii), (c)-(iv) and (d)-(iii)

3. % (@a)iii), (b)-(ii), (c)-(iv) and (d)-(i)

4.« @) =(ii); (b)-(i), (c)-{iv) and (d)-{iii)
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ALBM (Automated Lending and Borrowing Mechanism) was introduced by:
ALBM (et5°508E Boloh sufdin crfowvoh dsdes) ‘ém%é @5%’3}%&&0&:

Options :
1.« NSSL

SEBI

3 % NSDL

4 % CDSL
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The Committee which recommended the implementation of Non-Performing Assets
is:

RBEE sl oot Hardy) T3 SRl
Options :

Shivraman Committee
1 % AS0ES 5508

Marasimham Committee

A8%0seo Eid

K P Committee
3 % K.P.550d

L C Gupta Committee

e LC roar 500é
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What will be the impact if Reserve Bank of India reduces the Bank Rate by 1%?

Bestiny a:lﬂéoﬁ o9 s0bdr D e 1% é@iﬁp f) [Herdo dee Sotnob?

Options :



Less liquidity in the market
S0 & S5 (S5

1. %
More liquidity in the market
H0pS & D 5K
2. ¢
No change in the market liquidity
0y & (SEpES” Hetiy) B
3 Z
Mobilisation of more deposits by commercial banks
4 % ey arohed Db ared Histn
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The success of e-banking depends on:
a—mﬂ-‘mqﬁmﬁ Descho DA odhd dotoob:

(a) Multi-layer security system
Akt ] _n.-:;m:l |85 égJéQ

(b} Risk and surveillance system
B shBatn Do BBy

(c) Updated flawless software
HD5BodnAS 675 8ird Ejﬂ%ﬂﬁ

(d} Stringent legal framework
5SS SHBEDS HHBE,

Options :



(a) and (b)
{a) so8a%o (b)

(b), (c) and (d)
(b), (c) &baio (d)

2. ®
(a), (b) and (c)
3 (a), (b) &B&am (c)
(a), (c) and (d)
4 % (3) (c)soce (d)
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When was the Insurance Regulatory and Development Authority constituted?
=B B&EEE,JE- =of RHeSHols ogrbé B e 5;2355@&5&}?

Options :

1. % 1938

, % 1971

3 % 1993



4 @ 1999
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When the National Bank of Agriculture and Rural Development is established?
Bl mvéoﬁ =5 ofifed ook irid Globidod Jd) ﬁ;&oém&oﬁ:?
Options :
July, 1982

o, 1982
1L.¥¢ T

July, 1969
=g, 1969
% g

June, 1951
a5, 1951

June, 1961
4 % ®°5, 1961
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National Housing Bank is a fully owned subsidiary of:

%5565 5 hoh oo, & Kzo% 8 diralirdos ) edhaol FEDKD}Z

Options :

1 % HDFC

HSBC

REI

HUDCO
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Which stage of the product life cycle generates the most sales revenue for the firm?
2.8 §% 208 SEos™R o K56 50@& %68 eiyse smdbo Hinok?
Options :

Introduction
1 % (@FBosE

Growth
throde

Maturity

SO
3. ¢ ==



Decline
i
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Cognitive dissonance occurs in which stage of the buyer decision process model?
S ARy i) Dgab HBah S Ging) il ofe stgio (Cogn itive

dissonance? o hsod

Options:

Need recognition

e hosy
1. =

Information search
5 % BEEo &8

Evaluation of alternatives

[BergEimcire Surergosio

Post purchase behavior

4. Efof-en—Shard (5555
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He is a person within a reference group who, because of special skills, knowledge,

Personality, or other characteristics, exerts influence on others.
a8 SHorsFRd Joby &’ﬁ. 23 [g(;ﬁgt—:’ Qi‘_ﬁ,mﬂgw,a@;éo, iﬁﬁo o mEs efpre sebnor s8ho

[Hgrdio SrHRDRN 8l s heodst:
Options:

Facilitator
250855

Brand ambassador
2 % lzmol mowrhib

Opinion leader
v efiahdh Tedh5h

Social role player
a6 Dddb
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All of the following would be ways to segment within the category of psychographic
segmentation, EXCEPT:
Bodisfy psychographic segmentation SaAbs”™ ARt JeheRE frmer sotran, & afd
SnaasE



Options :

Social class
1 % ErEE H80

Occupation
8

Lifestyle
S5 30

Personality

- B
BgE&o
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Three fundamental pricing approaches are market skimming pricing, neutral pricing,
and ;
St [TrEDE B8 Drred® - e ?\:)&béoﬁ 868 dgedo, &tL_Easf 58 Orrdo, SHobdim

L=

Options :

word-of- mouth pricing

1 % T8 - Frety 88 Drdo

fair pricing
9 % HESDS &5 DgEdo



market penetration pricing
Soeces T8 86 Do

niche pricing
niche &8 Oodo
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Services are characterised by all of the following characteristics except for:
Bob oimred’, .58 8% ol oo Dol $55603kos” &8¢ deran:
A & [=S N (3] ol

Options :
Intangibility
_— ens

Homogeneity

5> Herfiahe
Perishability
280chéo
3. %
Inseparability
DeLBhoelE
4, %

Question Number : 127 Question Id : 27028216613 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

If a company's objective were to reach masses of buyers that were geographically
dispersed at a low cost per exposure, the company would likely choose which of the
following promotion forms?

a8 5)iPebs £5n3 piy & FREEor Iewnds FHfardhed TH5 5D So2d il S0nE,

Zo2d % Bob HIraS ﬂ{éé}aﬁa B00 DoHEStnh?
Options :

Advertising
(mEeasen

Personal selling

2 % u.haﬁﬁ -:pL_ECﬁZlCl

Public relations

I@;Eﬂ“ N0 SO

Sales promotion

f‘}ﬁnj TEESS

"Ex
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Which of the following refers to sellers being preoccupied with their own products

and losing sight of consumer needs?
siiyforrthen S Fod sdded D, HIArKhe Bikicod D5Bolel) Bob HE

08 Grdkob?

Options :

Product Concept
1. % B geadd

Selling Myopia

5 % wdyste [Pt

Marketing Myopia
Srg)@oh SHarhair

Value Proposition

4w Do BB
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Which of the following defines the total number of product lines offered by a

company?

Bob & DB, 2.8 Eod wobod ango H: 88 ( Product lines) Koy E:DE0k?
Options :
Product width

ﬁ:éﬁ:@ Ecﬁwﬂ:,
1.9



Product length

, 88 FED
Product depth
a8 &
3 %

Product height

4. ® SHE 28
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Assertion (A): Giveaways and buy-one get-one (BoGo) sales are examples of
penetration pricing.
aerosnden bain .58 Bodl HFES grotiod (BoGo) e @ﬁ:\}é_svm
@hofis swsFdnsen
Reason (R): The manufacturer temporarily loses money, but does so in the hope
of creating the interest in the new product.
Boirbmrthith eremdiorr Sapi SHefanis B8, 58 HhHD =080 §E OO

©iE oo I

Options :

(A) is correct, but (R) is incorrect
1 % (A)%B%8 =0 (R) s

(A) is incorrect, but (R) is correct
2 % (A)S, =0 (R) 5856



Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) £Baso (R) Both Deo HBak (R) =36 (A) S ¥BES D8

Both (A) and (R) are true and (R} is not the correct explanation of (A)

4 % (A) 58d5%0 (R)Both Reo, == (R) 038 (A) S HB@DE HHBe ==th
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Green marketing is a part of:
) e alel ] &2 o grio

Options :

Social marketing

- Friras (SocialErgfoh

Service marketing
565 S88oh

Rural marketing

Ireéoes (Rural) s880R
3. %

Relationship marketing
BENELD srgydoh
4. &
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Which area of business laws, focuses on the protecting the rights of artistic works?
SerelE Bide S SRodtod® arard Stredtd & Sto =y} 2tHé0h?
) = ey ] 4] £ 5

Options :

Contract law

seolérsy SSdo
= %] [

1. %
Sales law
DES Sdo
2. s =
Intellectual property law
3 shoe HoB8 B0
Liability laws
4 % a}“{ﬁdné iﬂ@éo
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Which contract type, is not in a written format?
D BE3S oy, rErEESS 86" sotith?

Options :



\Void contract

Jed (Void) seolgrs

Voidable contract

Voidable solgrs

lllegal contract

=5 sPolgrs)

Unenforceable contract
wien DAHBD SPO|ErE)
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A void agreement for a contract is:

E TO[_&:D%& Romofolld Il oo

Options :

Sale agreement
DEdH asnotio
[-%

Purchase agreement
2 % ECsofiten a.ﬁ;,:::-:!ﬁo



Wagering agreement

Wagering a.:jjotio

Sharing agreement

20iHEE aihotio
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In India GST became effective from:
PEEDEof GST & 88 o8 eend DR Sfhob:

Options :

15t April 2017
15 HBHS 2017

1% January 2017
1% d58 2017

1% July 2017
3. ¢ 1% =8 2017

15t March 2017
1° Hr8y 2017
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GSTis a based tax on consumption of goods and services.
GST =38 Shden HbcH Do HAErHOD ogrbs Sy
Options :
Duration
556
1. %

Destination
haﬂ:&o

Development

3. % @&ﬁg%
Dividend
Bogok
4. %
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What does ‘I’ stands for in ‘1GS5T'?
IGST & I’ @o&d alné?



Options :

International
1. %

Internal

R4 Integrated

Intra
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Which prospectus gives only a general idea about securities?
 prospectus 2E=Bde HBoD Frrte B8 S8 Sriga 8DahERs?

Options :

Shelf prospectus
Shelf g=7y5%

Red herring prospectus

Red herring [Z=7y5%
2.9



Abridged prospectus

VY TN N
3
wO5a) |3 sl

Deemed prospectus

4 % Deemed (@755
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Residential status of an assessee is determined for:

2 @%‘Eooj ( assessee) aws) Ao ’é}:e’j. £D8 Homobod &goﬂoémdjém&-:
Options :

Assessment Year

doy ( Assessment Jod&Eto
1. %

}  Financial Year
@gf‘é RoBEbo
2. %

Previous Year

3 @ n& ( Previous) Sos& 8o

Accounting year

= | S
4 % e odlon Nc:a-ein_lﬁo
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Interest credited on investment in Public Provident Fund is:
585 @r0B08 $oES™D Depel D BES Idhnds 56

Options :

Taxable under the head ‘income from other sources’
‘mEd 55ke ool E&ﬂﬁ eszcion’ %Q{s’ Sof Sy Dhodathebod

Taxable under the head ‘income from business or profession’
> % ‘Tarbo Gln B8 ok 53 emeaho’ 485 Bo8 By DHoSnHE08

Exempted from Income-tax

3 eatrPday D5y ioos dbdstonodathihod

Allowed as Deduction
éﬁﬂﬁﬂ“ ersndodnthdod
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The maximum amount of deduction under sections 80C, and 80CCD (1B) together is:
b 80C, s5o6dfn S80CCD (1B) Bodd Snd:fono GinZ) ﬁﬁ% dnéo:

=

=4

Eaict
o



Options :

Rs. 1,25,000
4. 1,25,000

Rs. 2,00,000
5 & &= 2,00,000

Rs. 1,50,000

&r. 1,50,000
3. %

Rs. 2,50,000

e, 2,50,000
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TDS, in case of salary should be deposited -
#do Dachodst, TDS & & oo u‘iﬂé&nﬁs EaraeS Daird:

Options :

Within 15 days from the end of the month in which such tax is
Deducted
s_-?@ STy é@oﬂs’a Ferptn Dod 15 Bwre 65

Within 20 days from the end of the month in which such tax is

Deducted
5% ST VT é@o&:‘é Ferpth ood 30 Bore &5



Within 7 days of the subsequent month in which TDS is deducted
i TDS #hodd 856 Jod” 7 Twe &

On the next working day

4 % KMo58 2D Baed
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Under which head will the salary received by a partner from a partnership firm be
taxable?
whﬁnééan ﬁo@ ol geriarfh SPobd ddo o 3rE Botd iy Dhodathdod?

Options :

Salary

#&o

House Property

zod &y

Business / Profession

.

Other sources
4w S5 St
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Identify the indirect taxes from the given options below:
Bol =xadd dohie ob éﬁEg:L Sayeih oo

ol

Options :

Corporate tax, GS5T
5085 Hdy, GST

Income tax, GST
soedd D&y, GST

GST, Wealth tax
GST, ot By

GST, Custom duty
GST, 555y &rgd
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The rate of tax that is leviable on STCG arising from transfer of Equity shares of a
Company or units of an Equity oriented fund is:

2.8 Bo2d k) éaﬁgjél Téren Boe éi&;é; £.6aho8E Hob ) dhrdy AL el cﬁz'ilj STCG =
a2 Dbodan a’aﬁ:&ééa;:

Options :

10 per cent
10 ==#0

15 per cent

15 o
2. %

20 per cent
20 ;o

30 per cent

4 % 30 a¢o
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The maximum amount of deduction available under section 80 TTA in respect of
interest income earned by an individual on savings accounts held with banks / post
offices is limited to:
artoken / ﬁﬁ;ﬁ"@éﬁ i) Bt rered 8 8 BoarBodd :ﬁ&; sordir)8 Somofod BES 80
TTA Bo& ool £83 dngo éﬁo?’@:

Options :



Rs. 10,000

& 10,000
1.9

Rs. 20,000
5 &®. 20,000

Rs. 50,000

3 % toe. 50,000

Rs. 1,50,000
“=. 1,560,000
]
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The approach, which satisfies the requirements of tax laws but not in accordance with
the intentions of laws, is known as:
ST ée\,::&:- Dootides Kmeiejg Sttim, =) &?@ 15-9.35?@ t‘:@iﬂ&é wiiomomr 89 Vel mee

w=otrt:
Options:

Tax evasion
1 % Sy o

Tax Planning

2350y (deaebis

Tax avoidance
S SoHE Ko



Tax management

D) DB
[=5 ad

4. %
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The total income of a non-resident company is taxable at the rate of:

2.E 50530t Eond g Indo eoraboR DeoSan i) o (Bob Dijore dotnob:
Options :

20 percent
1. % 20 o

30 percent
2 % 300

35 percent
35 Ivso0

40 percent
40 &0
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The provisions contained in Section-115 J B relate to:

P50 - 115 1B i iy Neogiden 588 Lozoboddd:
Options :

Tonnage tax
Eaahe S
(=8 [=CN

Corporate dividend tax
SDE“;}EFEE_: &80Tk Sy
2. %

MAT
$70e5 ( MAT)
\‘(/ o

GST

4 % EIBB(GST)
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Match List-1 with the List —Il by choosing correct options:
el 9 erlle—|l & D8SfayEr {08 Qobiod DoHFN HBD maraid Hrdodin:

List—1I
arofjem-|

(a) Normal Return
mrgrdies Beaby

(b) Revised Return
634 605

(c) Belated Return
sodiEhd Begy

(d) Loss Return
S50 808

Options :

List — 1l
efler—I|
(i) Section 139 (1)
2ES - 139 (1)
(ii) Section 139 (2)
255 - 139 (2)
(iii) Section 139 (3)
2ES - 139 (3)
(iv) Section 139 (4)
2ES - 139 (4)

(v) Section 139 (5)
255 - 139 (5)

1. % (a)-(v), (b)-(i), (c)-{ii), (d)-(iv)

5.« (@), (b)-{v), (c)-(iv), (d)-(iii)

3 % (a)(i), (b)-(v), (c)-(iv), (d)-(ii)

4. % (a)(ii), (b)-(i), (c)-(iii), (d)-(iv)



